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JER R (D N KD BB IA 2t B 0.1] (m3) 8,600 860 | A4878
FER AL 53 (D3 KD BIEE 0.1] (m3) 15,300 1,530 | A4882 {310
A BA BB IA 2t 0.14] 9,440 1,321 [ A4972
AN F 103,736 [310 3,240

5,841



N g e )

% i T = S MV B ¥ | BAr H A & # ] i
As-b BB Wi A it

3B BUE I O
<A >
SRBE N—7 T vxt=0.6 [LIZ88 #lfik 120] m 1,260 151,200 |(32)
A& T HiC: 155 t 59,000 91,450 |(33)
P A O N (CHEIRY %) PR IS F 84.7] (uf) 750 63,525 | A4666
fo TR i 24| (m) 600 14,400 | A4683
= TCEWE VPE 70.5]| (m) 490 34,545 | A4684

355,120



N g e )

% i T = S M B | Bz H A & # i P
ATE B Hifili Bt

U

PERA B (FE 7T ATy I FE) BEPHAR A 2 I A 0.7] (m3) 4,200 2,940 | A4842

PR AL 53 (BET T ATy I 5D FEER 0.7] (m3) 17,100 11,970 | A4846 310

VR R OB AN — N BEPAR A 2 I 0.5] (m3) 6,710 3,355 | A4869

FER AL 53 (B AR — R R 0.5] (m3) 14,400 7,200 | A4873 310

T FEIA BEPAR A 2 I 3.07] (©) 9,440 28,980 | A4972

N F 409,565 |3%10 19,170

54,445




M E (55 B0 )
% i T = S MV B ¥ | BAr HL A & # ] i
As-b BB Wi A it
4. B NEE OB T RO il
<A >
IR AR T =) ) i S N E S AN 12.4] () 700 8,680 | A4643

8,680




N g e )

4 G AT = S M B %% | Bz Hi A & fii i
Al E¥ Wiffi At
B3>
FEME R <FEPRb> FEARA A 2t B Ty 0.2] (m3) 7,210 1,442 | A4833
FEM B R <P iRik> B (g IR k) 0.2| (m3) 1,000 200 | A4837 %10

10,322 [>%10 200

/N F
1,642



N g e )

4 i T = S MV B ¥ | BAr i & # i i
As-b B Wi Bt it
5. DMBUEIZ ST
O B fE —x 17,600 |3%10 1,530
@FRARHEK, fEHI e —x 584,468 [¥10  i270,216

= 602,068 |10 271746
602,068




G (R 5 - 3 fiki )
4 i T = S MV B ¥ | BAr i & # i i
As-b B Wi Bt it
Ot B e
<A >
L IRk (A BREFBED ) 6.5] (i) 670 4,355 | A4675
R (I B & P BED ) 9.7 (m) 640 6,208 | A4677

10,563




N g e )

% i AT = S B ¥ | BAr H A & ] =
As-b BB Wi A it
oy
PEAMEM T AL T Pfhan< T 4H) [BEARFEIA 2t HUIE 0.1) (m3) 8,820 882 | A4860
FEMALGy (12T Bfkan< T48) |#&3Ekt 0.1) (m3) 15,300 1,530 | A4864 i%10
AMTEIA BB IA 2t B 0.49] (V) 9,440 4,625 | A4972
AN F 17,600 [3%10 1,530

7,037



M E (55 B0 )
4 i = S R 5 B | HAL i & % i Wi
As-b B Wi Bt
Qi BEAK B S fE
(R A K hefis)
<SR- H 2>
HeR AT HE VP100 ¢ 14| (m) 450 6,300 |(34)

6,300




M E (55 B0 )
4 g o H ST B 8 % | AL Al & # 1 L
As-b B Wi Bt it
oy
PEA B (FET T ATy /4E) BRI IA 2t B 0.1) (m3) 4,200 420 | A4842
PER A3 (BE7 T ATy /4E) e s 0.1) (m3) 17,100 1,710 | A4846 i3%10

2,130




N g e )

4 i T = S MV B ¥ | BAr H A & # i i
As-b B Wi Bt

(fesEkfs)

<A >

A AR RNy %Y) 1l 100cm LA _|-200cm il 12| (K) 570 6,840 |(35)

A A AL (N Y IEY) 28 40cmlh E60em AR HbHit T 1 () 5,190 5,190 | A4809

BIAIECN Y 7EY) #2[0]105cm ~120cm A 1| () 11,600 11,600 | A4812

A E (N v %) #2[0]135cm~ 150cm A 2| (B 17,600 35,200 | A4814

A 1=9.61m — 40,900 |(36)

A 1.=10.45m — 44,400 |(37)

144,130



N 3 (RS- 320 )

5
4 i T = S MV B ¥ | BAr i & # ] i
As-b BB Wi A it
oy
PER R (DS L <) BEPHAR A 2 I A 0.5] (m3) 8,600 4,300 | A4878
FER ALy (DS EHE) e s 0.5] (m3) 15,300 7,650 | A4882 (%10
)Y 7 i BB IA 2t B 1.9] (m3) 8,420 15,998 | A4887
)by BIEE 1.9] (m3) 3,060 5,814 | A4891 (310
77 E A e BB IA 2t 0.6] (m3) 8,420 5,052 | A4896
N IE LSy BIEE 0.6] (m3) 3,060 1,836 | A4900 i3%10
A BB IA 2t 0.6] (m3) 8,420 5,052 | A4905
FAGY B 0.6] (m3) 3,060 1,836 | A4909 i3%10
PEM IR (EA - 525D BRI A 2t 9.4| (m3) 10,000 94,000 | A4950
BEM AL (CEA - 525D B 9.4| (m3) 18,900 177,660 | A4954 1310
PEM B CEA - fR > F) BRI A 2t B 3.9] (m3) 10,000 39,000 | A4959
BEMALS (CEA - fR > F) BAEE 3.9] (m3) 18,900 73,710 | A4963 1310
AN F 584,468 |3%10 270,216

431,908




